2023 F RMEARE AL FFBRRARR (74 EERRE WS

SHES w4 WERE R LN ARG Eb 4K 2Eg REBEE® FH5
3408023k kx4 %0846 EH /N R LHA 13703 SREE R IR 1 = 75. 67
340104555028 ) LA 13703 SR R 1 = 79.00
341824k k5kk%%002 | FERIAK LIAR 13703 SRR 1 P 75. 67
342222 kk85k4% 1280 B THAE 13703 P IE R 1 = 78. 67
341991 sksksskskoksk 3124 IMEIE LA 13703 SRR 1 = 84. 00
341225%kkkkk61226 Kl LHA 13703 SRIE R I 1 & 89. 33
340404k5kkk£0225 KIEME LIAR 13703 SRIE R I 1 = 83. 00
3411 24skkskssokkk 1 429 B LI A 13703 SREER I 1 & 81.33
340403 %kkskskskok 1 644 FUE LA 13703 SRR 1 = 80. 00
3412045555k 0026 RIRE LIAR 13703 SRIER I 1 = 81. 67
420222 %%k k%0428 A LFA 13703 iR 1 s 90. 33
340102k 252X L EHA 13703 SRR 1 = 0.00
341225%kkk800% 1 24X B 4 THAE 13703 IR 1 & 81.87
340104skkk4% 1023 HFEE THAE 13703 SRR 1 & 83. 67
341222 %K% xk%%%2084 N A 13703 IR 1 = 84. 20
340404%k5k0kk6 242X B THAE 13703 IR R 1 3 0. 00
320623 %k kkkkkkT89 | B PR LA 13703 SRR 1 = 74. 33
341224k5kkk%0884 REM THAE 13703 IR 1 & 85.53
340603k k%0422 ik A LIAR 13703 BRI 1 & 86. 93
3401 04skkkk555%2023 5 LA 13703 SRR R 1 = 82. 00
340102k 4555%2549 JiH LHA 13703 S 1 P 75. 17
349492 ks xkkk%3763 ¥ LA 13703 IR 1 = 81. 50
3416225k kkx%%%5320 R LA 13703 SRR 1 = 86.90
341296%kkkk%kkk( 1 22 EH LA 13703 S R 1 = 0.00
2303054kt 402X FHE K LIA 13703 SREER I 1 & 84. 00
340404k5k6£0627 PR LA 13703 SREE R I 1 & 79. 67
34162 1tk 3546 ZECHE LIAR 13703 SRIE R IH 1 = 80. 83
34162 | xxxxxx%%2161 B LA 13703 SR 1 = 79.83
412728k 2545 kPl LIAR 13703 SR R 1 = 0.00
34122 k57003 FE LHA 13703 iR 1 3 80. 00
3401235k kkk%%%3329 k= LIA 13703 BRI 1 & 76. 00
411528%kkxx5%%0069 ERE LA 13703 SRR 1 5 0.00
340203skk55k4% 1828 [k THAE 13703 IR R I 1 e 81.33
341422%k5k80kk67942 EHE LIAR 13703 SRIE R I 1 = 75. 67
340292 ] skkkkkkk 4669 Fifi LA 13703 SRR 1 = 82. 00
340304 skkstoloiork042X B T A LHA 13703 P IE R 1 3 0. 00
340404355 x5k%%%042X KT A 13703 IR 1 = 84.53
34042 kx4 3823 T H LHA 13703 S 1 P 76. 67
340502k kx5 0043 Pkl LIA 13703 IR 1 = 76. 33
340603 %k k5554228 KT LHA 13703 SR 1 e 85. 87




34081 Iekkeketerek5 127 i LIAR 13703 SEIE I 1 £ 86. 23
340824kkkkkk62823 i THAE 13703 SRR 1 & 88. 57
34292 Lsskstotsok k4727 X2 g THAE 13703 P HE R IR 1 & 81. 67
340803tk 2142 iR THAE 13703 SRR 1 & 65. 67
429005 k6566 1 {PE THAE 13703 IR 1 & 81. 00
34102 1kkriokkx8389 e LIAR 13703 SEIE R 1 £ 84.33
34102 1kkiokk k4363 B THAE 13703 SRR 1 = 87. 17
341103kkiekk:3629 FEEIA LA 13703 FEREER 1 £ 76.33
3411 26%kkkk4%282 1 EtEE THAE 13703 SRR 1 = 0. 00
34118 Ikkriokk k0022 I THAE 13703 IR 1 & 77. 00
341122430023 R LIAR 13703 SRR 1 = 70. 67
34172 1kkkkiekkk 2744 T THAE 13703 SRR 1 & 90. 17
341222kkk40k0048 K i i LHA 13703 P IR 1 pi 80. 67
34122 1 #ksksesisik 30X RE L T+4 13703 S HE R 1 & 83. 33
341204%kxkk%%k%228 1 A LT A 13703 SRR 1 = 82. 00
341225sksdokskokkx 0423 PN = LI A 13703 IR 1 3 85. 00
341203 %%k kk%k%k0627 TR AL I LIA 13703 PRI U 1 2 85. 50
341222%ksx45k%%2390 8K LT A 13703 PTG T 1 = 88. 83
34122 skt k0226 Vi LIA 13703 IR R 1 = 84. 33
3412023k 1324 R v R LI 13703 S8 0P VR 1 = 87. 17
341621 skkkkkkk0924 pl)=3 LA 13703 S8 0P T 1 2 85. 67
341281 kkkskk4kx082X 25T LT A 13703 S IE R 1 = 85. 67
34128 skttt k0322 FHEALL E LA 13703 IR 1 &= 78. 87
34128 skdoksikkx 0318 H Ui LHAA 13703 T 1 & 79. 33
342201 %kkskikok 382X BTG LA 13703 8 07 RV 1 2 71. 67
341323skskskskskokokk 1 547 1540 LT A 13703 PTG T 1 = 81.17
34222 2%k k%kk%%%0425 25 LT A 13703 SN R 1 = 79. 00
341324%kkx45k%%0025 EAUK A LT A 13703 P IE T 1 = 77.33
341302skdoksickkx 0046 A EFFA 13703 0T 3 1 3 80. 33
341302k 5k 1 22X i LI 13703 IR 1 &= 83. 67
342423 %% % xk%k%%6309 JEIlEH LIA 13703 SR 0P VR 1 2 77.00
34242 3skotkedtk 0068 ] TR 13703 IR 1 3 79. 67
34242 3skkskkkkk %4687 B LT A 13703 PTG T 1 = 83. 00
34242 3skdoksckkx 0560 NG EFFA 13703 90T 3 v 1 3 84. 67
3406025k % kxk%kk001 4 BEE LA 13703 S8 0T RV 1 2 81. 50
34242 Tssksoksskkx 0060 01 G EFFA 13703 IR 1 3 85. 33
342492 3skotokedtk 0025 IR IR THA 13703 IR 1 3 80. 00
34242354k kk%k%kk4479 A LA 13703 8 07 U 1 2 88. 67
34240 skttt k3823 e LA 13703 d e 1 &= 75. 33
3424 25%kk4kk 46202 1 AR TS LT A 13703 P IE T 1 = 85.33
342523448542 I LIt A 13703 IR 1 A 87. 50
340103543527 M LTHA 13703 T 2 5 0. 00
34242 3kkxkkkk %3763 F¥ LI A 13703 PTG T 2 = 81.50
230305%kkskk4kx402X HEK LT A 13703 S IE R 2 = 85. 33




34162 Liekttorkx2161 T Ak THAE 13703 IR R I 2 = 79.83
34012 [eotetiolekk 7907 RIEFE THAE 13703 I IE R 2 P 66. 67
34042 1 seeketelettok 3823 $EAH LHA 13703 PR R I 2 Py 76.67
340824kkkkkk62823 RIgE THAE 13703 SREER I 2 = 88. 57
340803skktokkx 2142 ] 75 THAE 13703 IR R I 2 = 65. 67
341126%+kkk4k0052 £ LIAR 13703 SRIE R I 2 = 0. 00
341225%kkk450423 N = THAE 13703 IR R I 2 s 85. 00
341203kkkkkk60627 kA LA 13703 FEREER 2 & 85. 50
341222k k3k%%2390 R K LHA 13703 HiE IE R = = 88. 83
34162 1 ekotekiok0924 X2 LHAE 13703 PR R I 2 % Py 85. 67
341323 kkk0k 1547 (A LA 13703 PRI /e © N\ P 81.17
342222k ki4kx0425 oy LTLA 13703 PR R N \12 s 79. 00
342423 %05+ 4687 [ LIA 13703 IR RR fop 2 v 2 83. 00
34242 3kkkkH3440560 2k e e HIHA 13703 B2 T 2 ~ 2 84.67
342423%HHHHH5%4479 B LA 13703 e 22 NE] R 88.67
3424254202 1 KR TS LIAR 13703 SRIE R I = 85. 33




